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Assiut Univerity Time: 3 hours {6
Faculty of Science/ Chemistry Department May 2008 L.l .'
Final Organic Chemistry Exam for second year students (Biology & Gmln_g}:‘,l.(fhem 262
A S ey (105 Marks)
I- Answer one only of the following two questions (1 or 2): (25 marks

1- Compound (A) and its isomer (B) have structural formula C;HzO. When compound (A) and (B) subjec
to react with Jone’s reagent, compound (A) gave carboxylic acid (C) which its structural formula C;HzO
while compound (B) not reacted. The two compounds (A and B) were reacted with CH;MgBr, and then
work up with H>O. Compound (A) gave secondary alcohol (D), while compound (B) gave tertiary alcohol
(E). The molecular formula of the two alcohols is the same (CsH;;0). |
Predict the structure for each compound (A), (B), (C), (D) and (E). 4
2- Compound (A) and its isomer (B) have structural formula CgH;O. When compound (A) and (B) a
subjected to react with Jone’s reagent, compound (A) gave carboxylic acid (C) which its structural formu
C 111304, while compound (B) not reacted. The two compounds (A and B) were reacted with NaBH, in
methanol. Compound (A) gave primary alcohol (D), while compound (B) gave secondary alcohol (E). The
molecular formula of the two alcohols is the same (Cghl 40).

Predict the structure for each compound (A), (B), (C), (D) and (E).

Il — Chose the correct answer in the following questions (ONE ONLY A or B) (15 marks)

A - In the two following equations 1-prpayn reacts with water in different catalysts.

— -y Hgit, H;S0 BH M0 — e
a, CH—(=CH H" 5 - Sk CH;COCH; | b, CH~C=CH = CH;CH,CHO
i -The type of the two above reactionsare: (5 marks)
a- Elimination reaction b- Addition reaction ¢- Substitution reaction.
it —1'he above two reactions are: (5 marks)
a - Stereo selective b — Stereo specific ¢ — Regioselective
iii- Which of the following does not represent a valid pair of resonance structures? (5 marks)
@ b : @
& . 2 b- H;C—C=CH, =+— H,C=C—CH, o c 8
a- H,C—C=CH, +—s HIC:E?—JCH, : lii e- HyC—C=0 =+— H,C=C—-0
1 1 H
@ d & @ 8 2 e
d- H,{—C=0 =— H; .-r.-;'i".—-ﬂ e HyC—C=0 H.C=C—0
i i 1 1

B - i- Enantiomers is: (5 marks)
a -Two isomers of molecule which mirrer image to b-Two isomers of molecule which superimposed cach other
each other.

~Two isomers of molecule which not superimposed d-Two isomers of molecule are different in physical
-ach other. properties

-Two isomers of molecule one of them rotate The correct answers are (a,b)- (a,b,c)- (a,b,e) - (a,,bd) -
olarized light to right and other rotate it to left by (a,c,d)- (a,c.d.e)-(all of them)
:qual degree,
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Diasterecomers:

(S marks)

I'wo isomers of molecule which mirror image to

b-Two isomers of molecule which superimposed each

ch other, other.
Iwo isomers of molecule which not mirror image | d-Two isomers of molecule which not superimposed each
each other. other.

I'wo isomers of molecule are different in physical

nperties,

I-Two isomers of molecule one of them rotate polarized
light to right and the other rotate polarized light to left in

equal degree.

The correct answers are (a,b)- (a,b,c)- (a,b,e) - (¢, d, e)-(a,,b,d) —(a,c,d)- (a,c,d,e)-(all of them).

‘Indicate whether each of the following questions are *“true” by circling the letter *“T”, or “false” by

ding the letter “F,

(5 marks) _

1| Acetic acid is more acidic than formic due to the presence of methyl donating electron group

When carboxylic group attached with donating electron group that is increasing the acidity

'

Alkyl groups were have +1 effect while halogens have -1

F

|

|

T | Methyl amine is more basic than ammonia.

I' | Acetic acid is more acidic than monochloroacetic due to the presence of highly
electronegative chlorine atom

-Compare the each of following pairs (A, B) of molecules and determine if they are identical,

enantiomers, diastereomers, constitutional isomers, or non-isomers (three only).

CHy ll:ljg
@:Hh

NgB

(15 marks)
HO H
-~
H
JH

CHO CHONH
| A e | [T -
HO—— 4 H——ii b
B Homgme R

CHOH W

Determine if the molecule below is chiral or achiral. If achiral, decide whether it is also meso (4 only).

Br Br 0 H EH_!.
\@/ \L)I‘nu HsCy” o~ "H
r B
Br, H 0 0 CHO
i E HO——H (20 marks)
g A 1 e
D H r CHOH
Complete six only of the following equations: (30 marks)
o LHMgBr = g | a0,
- —l =
Ether ; 3-H", HgCl,
H° "H
B;H, CHO
Vie 7 c——— N

O_ 2CH,;0H
0O - 9
v\lrl]'ll

()

Wt}u
Lr 0
=
-

LiAIH, in cther
= )

CH>N; in ethe
1N; l.thl.r.. 5

i ~N CN /H20

0

viii - Lo/Hg/HCI 5
W -

O
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Section (B) (Aromatic Org. Part)

Question No.1:

a)Discuss by equations,how can you differentiate between Two Only of the
following pairs:- (11 Degree)

i) Benzyl chloride & Benzotricholoride  ii)Anilin& N-Methylaniline

iii)Benzaldehyde & Acetophenone.

b)Write the major product (s)would be obtained when Three Only of the

following compounds are nitrated :- (12 Degree)
i) Ethyl benzoate iym-Benzene disulfonic acid
liijo-Amino acetophenone iv)4.4'-Dinitrobenzanilide
¢)What happen for Three Only when ? (12 Degree)

i} Heating a mixture of benzaldehyde with an excess of formaldehyde in the

presence of conc.ag. NaOH .

ii)Bromine water is added to an aqueous solution of phenol.

ili)Aniline react with methyl iodide,then added NaOH.

iv)lodobenzene is heated with activated Couper powder .

Question No.2:-

a) Write the chemical equations for the Two Only of the following convertion
reactions :- (10 Degree)

i)Aniline into Phthalic acid ii) Toluene into Hydrobenzamide

1) Benzene sulfonic acid into Picramide.

b)What products would form when benzenediazonium sulfate reacts with the
following :- (12 Degree)

1) H; PO,/ H.0O i)NazCu(CN)/o i) C¢HsOH/OH

¢) Use the reasonance theary to explain why the methoxy group in anisol is an

activating group and o-,p- director, while the carboxylic group in benzoic acid is

an deactivating group and m-director. (13 Degree)
Question No.3 :-
a)Complete Four Only of the following equations: (20 Degree )

i)Toluene MnO;/Ac:0 A H' B 2(CH;,CO C
i e o
ii) Anthranilic acid + CICH,CO;H — A & , B Lo €

——

iiijo-Toluene sulphonyl chloride _NH3;, A _KMnQ, B —2—» C

iv) Benzene + HNO3/H,8S0y —»A  Zn/NaOH B 2H" C
—_—— —_

v)Resorcinol +HCN/HCI ZnCh A H+.|"H15! B RNH, C

b)Arrange the following amines according increasing their basicity.
s-Trinitroaniline , Aniline, p-Methyl aniline, p-Nitroaniline (5 Degree )

¢)Which of the compounds below are aromatic (10 Degree)

00 A
Good Luke

Name of Examiners :1- Prof.Dr.Adel Kamal
2-Prof, Dr. Zeinab Hozien
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Assiut University June 2008
Faculty of Science
Chemistry Department Time : 3 hrs,

Second Semester Final Examination

Subject:Course No 222 "Physical Chemistry" Students : Second Year "Physics / Chemistry"

Answer the following questions:

1) Answer Two Only of the following: (48.25 Marks)
a) Derive kinetic equation for determining the specific rate constant for the following reactions:
JA B * Products
K,
S e——
A K, B

b) Discuss the theory of absolute reaction rates?
¢) (i) Deduce the following equation which expressed the effect of mp{;rature on reaction velocity
2 _ _AE A2 =11
ogie o T gaer ST
(ii) AT 25°C the specific rate constant for the hydrolysis of ethyl acetate by NaOH is 6.36 moles”
min~' starting with concentrations of the base and the ester of 0.02 molefliter at 25°C, what

proportion of ester will be hydrolyzed in 10 min,
2) Answer Only Two_of the following: (48.25 Marks)

a) Derive the following thermodynamic relations :

(i) Equilibrium constant and temperature, (ii) Enthalpy change and temperature,
(iii) Standard free energy change and equilibrium constant.

b} For a certain gas C, = 12.0 cal. mol’ K'. What will be the change in entropy of 10 moles of the
gas when it is expanded from a volume of 200 liters at 3 atm. pressure to a volume of 400 liters
at 1.5 atm. pressure? Calculate also AE,AH , q and w for the process.

¢) Show how can you proceed to derive an expression for w,q, AE and A H, that correspond to
each of the following reversible thermodynamic processes.

(i) constant volume  (ii) constant pressure and (iii) isothermal processes,

3) Answer Only Two of the following: (48.25 Marks)
a) For the reaction : N0 —— Nyyy + 12 Oy
AH=-195K cal. mol" and A S =18 cal. mol’ K"
and for H;0p, —* H;0(g, 1atm )
A H=9590 cal mol’ A S=25.7 cal. mol” K",
Explain, how the Gibbs free energy function can provide a convenient criterion for:

(i) Eventual course of these reactions. and (ii) Their position of equilibrium.

b) State the third low of thermodynamics and show how it can be applied to calculate the absolute
entropy of a chemical compound.

c) Discuss the different methods which are frequently used for determining the standard free energy
change of a chemical reactions.

4) a) Predict the number of phases in equilibrium, components and calculate the degrees of freedom for
each of the following: (48.25 Marks)

(1) Transition point in sulfur system (at 95.6°C),
(ii) Cryohydric point (at -55°C) in the ferric chloride-water system.
(iii) Transition point (at 0.15 °C) in sodium chloride-water system.
h) Discuss briefly the application of phase rule to study of Two Only from the following:
(i) The two components system of A and B forming a compound AB with congruent melting point.
(ii) Sodium sulphate-water system.
(i) The three component system NHNO;-AgNO;-H,O0 at 30°C in which binary compound
(congruently double salt) NH,NO; - AgNO; is formed .
Good Luck
Name of Examiners: Prof. Y. Temerk , Prof. R. Gabr, Prof. M. Hamed
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Assiut University May 2008
Faculty of Science *
Chemistry Department Time : 3 hrs.
Final Examination of Organic Chemistry for 2" Year

(Physics-Chemistry) Group Students

Section (A) (Aromatic Part)
Answer the following questions:

1) a) Complete Only Three of the following equations: (27 Marks)

. NH- (0) Heat
(i) o-Toluene-sulphonyl chloride —— ? ———» 7 —EAL 9

{0+/H-S0. H /H-0
(i) Acetanifide DNt o : » 7 —CKCOH _, o

A
H.O./H' 1
(ili) Benzene + (CHz),CHC1 —ACh , s WL -4 PC ?

: X -H(C A (O
(iv) Anthranilic acid + chloroacetic acid W Y i T

b) Predict the major product (or products) would be obtained when three only of the
following compounds are mononitrated : (15 Marks)

(i) p-Teluene-sulphonic acid.
(ii) o-Nitro acetanilide .
(iii) p-Hydroxy benzaldehyde.
(iv) m-Acetyl salicylic acid ester.
(v) p-Aminobenzophenone.
2) a) Hlustrate by equations only, how can you prepare the following compounds: (15 Marks)
(i) 1,3,5-Tribromobenzene from phenol. (ii) m-Bromoaniline from aniline.

(iii) o-Chlorobenzanilide from benzene .

b) Complete Only Four of the following equations: (24 Marks)
(i) Toluene + MnOyH* —(CHiCO)0 _ » HO , » Cl, >
HCN/HCI H-0O H,N-NH;
(i) Resorcinol = ZnCi,  ~ ? ¥ ¥ T T
0°C H,O/A CH3;COCI .
(iii) Aniline + HONO »2 o ?
ether CO; ¥, TIH;G 3
(iv) o-Bromo-toluene + Mg A 'y ?
AIC); (CH3):NH/S H
(v) Benzene + acetylchloride i = 2 =2

3) a) Cyanide group is m-director but hydroxyl group is o-p-director in benzene reactions,
explain this statement . (20.5 Marks)

b) By equationiOnly, give one preparation method for each of the following : (21 Marks)
(i) Pieric acid
(ii) Salicylaldehyde

(iii) o-Dinitrobenzene




Section (B) Aliphatic Org. Chemistry Examination (May 2008)

Answer the Following Questions:

1) Complete (Only six) from the following equations: (42 Marks)
a) 1.3-Cyclopentadiene + Ethylene —» ? + H; /Ni —» 7 ( write the structure name)
b) Benzaldhyde + Ethanal NaOH/AH 7 _HBr{gas), 7 _KOHag , ? H,SOJ/I80°C _ 7 +7

¢) ¥ Butyro lactone + 2( CH;Li) / H;0%—»10 2

d) Methy! acetate + 2(Cyclopentyl magnezium bromide) / HiO" —» 7
¢) Cyclopentyl ethyl acetate + 2(phLi)/ 18 g il L,
f) Cyclopentanone + Br-Mg-CHaC H;CH,-CHO — ™2

g) 3-formyl cyclohexanone + LiAlHy, —» 2 + 7

2) Propose the reaction mechanism (Only three) for the following: (30 Marks)
a) 2-methyl - 2—phenyl -1-butanol + HBr ——» 7

b) Ester formation of methyl acetate in acid medium.
¢) Hydrolysis of ethyl cyanide and acetyl chloride in acid medium.

d) Reduction of methyl benzoate using LiAlH,.

3) Show how you carry out (Only three) from the following : (18 Marks)
a) 1,5-Hexadiene » N-Ethyl pyrrole.

b) Diethyl malonate » Cyclohexyl methyl acetic acid .

¢) Ethyl aceto acetate ester——» Cyclohexyl acetone.

¢) Glycozal » Succinic acid.

4) Complete and suggest the reaction mechanism type {S‘N', SN2, E', E2 SE', SE?)

(Only four) from the following : (32 Marks)
a) (S-) 2-Chloro-2-phenyl butane + ( KOH agueous / alcohol) ——* (?andfor?) +( 2:+7)

b) 2.2.2-Triphenyl -1-chloro cthane + (KOH aqueous / alcohol) —» 2 4 7
¢) 1,3-Cyclopentadienc + CH;Cl / C;HsONa catalyst———» 2

d) Allyl magnesium chloride + Acetone ——» 7+ HBr ——» ?

¢) o - Chloro propyl methyl ether + ( KOH aqueous / alcohol ) —* i
=== Good Luck =
Examiner: Prof. Dr. Ibrahim M.Ali Awad
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Assiut University May 2008
Faculty of Science
Chemistry Department Time : 3 hrs.

Final Examination of Organic Chemistry for 2" Year
(Physics-Chemistry) Group Students

Section (A) (Aromatic Part)
Answer the following questions:

1) a) Complete Only Three of the following equations: (27 Marks)
NH- (0) Heat
(i) o-Toluene-sulphonyl chloride —» ? ——*» ey e e o e
HNOVH->SO. H'/H>0 :
(i) Acetanilide : > 7 A » 7 —CHRCOH , 9
E H-.0-./H" b
(i) Benzene +(CH;xCHCOL —C=, U > 7 Bl ton
& A
(iv) Anthranilic acid + chloroacetic acid HOE e 2 ?—”H—*- ?

b) Predict the major product (or products) would be obtained when three only of the

following compounds are mononitrated : (15 Marks)
(i) p-Teluene-sulphonic acid.
(ii) o-Nitro acetanilide .
(iii) p-Hydroxy benzaldehyde.
(iv) m-Acetyl salicylic acid ester.
(v) p-Aminobenzophenone,
2) a) Mlustrate by equations only, how can you prepare the following compounds: (15 Marks)
(i) 1,3,5-Tribromobenzene from phenol. (ii) m-Bromoaniline from aniline.

(iii) o-Chlorobenzanilide from benzene .

b) Complete Only Four of the following equations: (24 Marks)
(i) Toluene + MnOy/H' — (CHsCORO _ » HO , » Cla . _ 28
4 HCN/HCI H,0 H,N-NH;
(ii) Resorcinol ZnCl, PHE % 47
0°C Hznjﬁ CH}CGC] -
(iii) Aniline + HONO >7 ag '3
ether CO, . H'/H,0
(iv) o-Bromo-toluene + Mg Bl ? ;
AICk (CH;);NH/S H'
(v) Benzene + acetylchloride i s =y

3) a) Cyanide group is m-director but hydroxyl group is o-p-director in benzene reactions,
explain this statement . (20.5 Marks)

b) By equationsOnly, give one preparation method for each of the following : (21 Marks)
(i) Pieric acid
(ii) Salicylaldehyde

(iii) o-Dinitrobenzene




Section (B) Aliphatic Org. Chemistry Examination (May 2008)

Answer the Following Questions:

1) Complete (Qnly six) from the following equations: (42 Marks)
a) 1,3-Cyclopentadiene + Ethylene —» 7 + H; /Ni —» 7 ( write the structure name)
b) Benzaldhyde + Ethanal NaOH/AH = ? _HBr(gas), ? _KOHag 7 H,SO/IS0°C _ 7 +?
¢) ¥ Butyro lactone + 2( CH;L1) / H,0% —s109

d) Methy! acetate + 2(Cyclopentyl magnezium bromide) / HyQO"—» 7
g) Cyclopentyl ethyl acetate + 2Z(phLi)/ H;DE' g —F
f) Cyclopentanone + Br-Mg-CH,CH,CH,-CHO —* ?

g) 3-formyl cyclohexanone + LiAlHy. —» 7 + 7

2) Propose the reaction mechanism (Only three) for the following: (30 Marks)

a) 2-methyl - 2—phenyl -1-butancl + HBr ——» 7

b) Ester formation of methyl acetate in acid medium.
¢) Hydrolysis of ethyl cyanide and acetyl chloride in acid medium.

d) Reduction of methyl benzoate using L1AlH,.

3) Show how you carry out (Only three) from the following : (18 Marks)
a) 1,5-Hexadiene » N-Ethyl pyrrole.

b) Diethyl malonate » Cyclohexyl methyl acetic acid .

¢) Ethyl aceto acetate ester—— Cyclohexyl acetone.

¢) Glycozal » Succinic acid.

4) Complete and suggest the reaction mechanism type (SN', SN*, E', E?, SE', SE?)
(Only four) from the following : (32 Marks)
a) (S-) 2-Chloro-2-phenyl butane + { KOH aqueous [ alcohol) ———» (7 and/or?) +( ? +7)
b) 2,2,2-Triphenyl -1-chloro ethane + (KOH aqueous / alcohol) ——» 7 + ?
¢) 1,3-Cyclopentadiene + CH;Cl / C;HsONa catalyst———» 7
d) Allyl magnesium chloride + Acetone — ?+HBr ——» 7
e) d - Chloro propyl methyl ether + ( KOH aqueous / alcohol ) ——» 7 + ?
= Good Luck =====—====
Examiner: Prof. Dr. Ibrahim M.Ali Awad
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READ (5,10) X, A, B MY
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bogall oA cala 81
23456789
WXYZ

9 0
TN

6
Q

1 2
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HOPQRS U

DY = 1.0 DO / 3.0 DO
WRITE (6,10) DX, DX
WRITE (6,10) DY, DY
10 FORMAT ( D23.16 ,2X ,D12.4 )
(iii) COMPLEX Z
READ (5, 10) Z
WRITE (6,10) Z
FORMAT (F8.2 ,2X, F8.2)
FORMAT (F5.2 ,2X, F6.3)

10

20
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3
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DIMENSION

0
6
5
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10

E
ID (
DO 10 K = 1,5

ID(K)=2* K

)

4567 890
3 45 9AaTl

ID(2)=ID(2) +ID(3)
ID(5)=ID(5)-ID(4)
WRITE (6,20) (ID (1), 1I=1,5)
20 FORMAT (13)
(v A=10 , B=20 |,
AM= SUM (A,B,C)
C =AM
CALL ADD (A,B,C,GT)
WRITE (6 ,10) AM , GT

C=30




0 FORMAT (1X ,2( F4.1 ,2X))
STOP
END
FUNCTION SUM ( X,Y,Z)
SUM = X+Y+Z
Y=X+ Y
Z=Y+Z
X=7Z+X
RETUREN
END
SUBROUTINE ADD (X,Y, Z ,T )
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RETUREN
END
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(i) DOUBLE PRECISION DX , DY
DX =1.0 /3.0
DY = 1.0 DO / 3.0 DO
WRITE (6,10) DX, DX
WRITE (6,10) DY,DY
10 FORMAT ( D23.16 ,2X ,D12.4 )

(iii) COMPLEX Z

READ (5, 10) Z
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10 FORMAT (F8.2 ,2X, F8.2)
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University of Assiut

Faculty of Science
Department of Geology
Second Year Examination in
Field Geology and Rock mechanics (232 G)
Time: Two Hours May, 2008

PART 1
ROCK MECHANICKS (52.5 Marks)

Answer the following questions:

1--Discuss briefly: (26.5 Degree)
a)-The differences between rotational and non-rotational homogeneous strain. (73.5 Degree)
b)- The effect of depth and homogeneity of material on the deformability of geologic

bodies. (13 Degree)
Answer ONE question ONLY of the following:
2 Discuss briefly: (26 Degree)
a)-Angle of shear and angle of shearing resistance. (6.5 Degree)
b)-Dilation and distortion. (6.5 Degree)
¢)-The concept of stress and strain diagrams. (6.5 Degree)
d)- Kinds of stress. (6.5 Degree)
3-Write briefly on: (26 Degree)
a)-Plastic dislocation and ruptures. (6.5 Degree)
b)-The factores which may affect the compressive strength of the rocks. (6.5 Degree)
¢)- Hystersis. (6.5 Degree)
d)- Plastic deformation and its relatienship with granular structures. (6.5 Degree)
PART 11

FIELD GEOLOGY (52.5 Marks)
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T'riangulation Point — Merdian — Open Traverse — Agonic line tf B it Bl ST ()
(10.5 Marks)
"A magnetic declination of 45° E" PRI Byl e 13l (Y
(10.5 Marks)
"The Brunton compass includes 3 instruments in one apparatus" A8 pladl - 0
(10.5 Marks)
4) Define the following terms: (10.5 Marks)

Chaining -Traversing - Linear Deflection - Datum section.

(10.5 Marks) o0 JS om G0\ oy (8

A- Azimuth and Bearing (5 Marks)
B- Back-sight (B.s.) and Fore-sight (F.s.) (3.5 Marks)

(10.5 Marks) 1 Radsandl 8 el oal S5 (Y
(5.5 Marks) Distance measurements <ULl A§

(5 Marks) Angle measurements Uy W3 -0
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University of Assiut

POER I L Tjpese
Faculty of Science
Department of Geology
Second Year Examination in
Sedimentary Rocks I (216G)
Time: Two Hours May,2008

Answer_TWO questions ONLY of the following:
1-Discuss in some details:

a)- Methods of measuring partical size of clastic sediments.

b)- Colloform and related textures.
c¢)-Separation of heavy minerals.

d)-Orietation of sedimentary particles.

2-Write briefly on:

a)- The graphic representation of grain-size data.
b) -Accessory minerals of sediments.

¢)- Non-clastic textures of sedimentary rocks.

d)- The factors affecting the porosity and permeability of rocks.

3- Discuss briefly:
a) -Mineralogical composition of sediments.
b)-Surface textures of sedimentary aggregates.

¢)-The differences between roundness and sphericity.

d)-Authigenic minerals of sediments.

GOOD LUCK

(52.5 Degree)
(13.5 Degree)
(13 Degree)
(13 Degree)
(13 Degree)

(52.5 Degree)
(13.5 Degree)
(13 Degree)
(13 Degree)
(13 Degree)

(52.5 Degree)
(13.5 Degree)
(13 Degree)
(13 Degree)
(13 Degree)

Prof. Dr. Ahmed-Reda ElYounsy
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Section A : Plant Ecology
- Answer the following questions:
I- a- Give the scientific expression of : (15 marks )

Reducers — hardening — photophilous plants — absolute humidity — remainder
- desertification — microclimate — phototropism.

b- Write on TWO only: ( 30 marks,each one 15 marks )

1- Adaptional features which protect plants against extreme temperature injur
| 2- Beneficial effects of wind on plants.
| 3- Effects of solar spectrum on the plant life,

| 11- Write on THREE only: (45 marks,each one 15 marks )

a- Identify:
Residual soil — sticky point — duff — lianas — soil texture — eluviation — glacial
mycorrhiza.

b- Compare between :
The habitats of both halophytes and oxylophytes.

c- Give an account on the classification of soil water.

d- Define the pedogensis - Explain the physical weathering processes of soil
formation.

Prof. Dr. K. A Farghali
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